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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper. '

2. Atfempt all questions.
3. All questions carry equal marks.

4. Answers may be written either in English_or Hindi;
but the same medium should be used throughout the

paper.
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2. 'mg T B IR A :
_ : Office & Administration overheads 550,000
Y ““ﬂ T 3R AT B Selling & Distribution overheads 3,00,000
4. TEFT-T 1 IR FAH A B ot ver s F v, Aftr Closing stock of finished goods
T I T M e & 2 =Y | (1,200 units) 2,20,000
' Closing stock of WIP 1,40,000
Goodwill w/o : 3,30,000
1. (a) How does cost accounting differ from financial Income Tax pald 50.000
accounting? (5) ;
(b) Wh : : { Cost account manual states that ‘the factory
Exp)lla?;e t;(::Str and fln:nc_nal acc'ounts reconciled? v overheads are to be recovered at 100% of Labour.
: .easor'ls P Xhe difrerence DERES Administration overheads at 10% of works cost
costing and financial profit or loss. (10)
and selling & distribution overheads @ X 10 per
OR unit sold.
(a) What do you mean by Cost Accounting Standards? Prepare Statement of Reconciliation, Cost Sheet
Why do we need cost accounting standards? and Profit & Loss Alc. (10)
(5) "
(b) The following figures are given : . (%) e et e ST ¥ 8 e 2 27
) '
Sales (25,000 units) 65,00,000 (@) = R e e & e R S R ? e
Materials 25.00,000 3 freia o o Bl @ A SR F FRON A AR
Wages ' 15,00,000 R,
Factory overheads 10,00,000 . e
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w) A AT AR X 0qHT T A :
*) / ¥ sl 27 & W 2. (a) Explain the accounting treatment and control of
P AT A S F 27 wastages in the cost accounts. (5)
(@) Fefafea e e o & (b) A.S. Ltd. produces a product ‘Red’ using two
(TR _&.) components X and Y. Each unit of ‘Red’ requires

fadt (25,000 Tl 0.4 kg of X and 0.6 kg of Y. Weekly production
’ ) 60 20 varies from 350 units to 450 units averaging 400

bl 25,00,000 units. Delivery period for both the components is
qoteq - 1 to 3 weeks. The economic order quantity for X
E e is 600 kg and for Y is 1000 kg. Calculate :
& < 10,00,000
AT IR T 3?[3’(%@ 5’5'0,000 (i) Re-order level of X;
foit s feor siravdge 3,00,000 (i) Maximum level of X;
R A F AT : ’
(1200 =) 2,20,000 (iii) Minimum level of Y.(10 Marks)
SIS T ST whw 1,40,000 ‘
~ s OR
TEet, wio 3,30,000 '
SAFT T A 50.000 (a) What is idle time? Explain the causes leading to
v idle time and its treatment in cost accounting.

AR @Il FEEEet ¥ @ W @ B sras @ 4 )
HEEE F 9H B 1009

_;'} ; % W g Foar s &1 R (b) The following information relates to the personnel

bl SaegE SR fast o faeon department of a factory for the month of April

AR @3 10 W g ¥R ) 2020
Repdicter, smm oo 3iik @ ok w1 @R @ R Number of workers on April 1, 2020 950
FAR : Number of workers on April 30, 2020 . 1050

PEO
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Number of workers who quit the

factory in April, 2020 10

Number of workers discharged -
in April 2020 30

Number of workers engaged in
April 2020 (including 120 on
account of expansion scheme) 140

Calculate the labour turnover rate under the
different methods, ; A (10)

(%) oFE @ A A@HT ITER R I9Ed & AgEe

RAT HIFY |

(@) vom fofics @ weat X 3R Y &1 SN @

IR W H IAEA HAr Bl WA TAE TE
F 0.4 fFdm™ X 3R 0.6 fFem Y &t smasgewar
Bl B1 AEE IET 350 IHEAN A 450 FeREA
%aﬂaawoaaﬂzﬁf?fﬁ:{am%ﬁaﬁaﬁ
fRclia® =t smafer 1@ 3 g=E 21 X & g swFfE
HER Tt 600 famm sk Y = forg 1000 fFm 24
WTUFﬂ'ﬂﬁﬁQ: :

(i) X =1 g9 AR =W,

7
(i) X @ s =
(i) Y & A

qi

(m)_ﬁmwwé?mé@aﬁiﬁmwaﬂ?

J68 STER & HRON @ e Sl

(@) Frfafa TR SO 2020 FER @ fog U @

& e v ¥ dEkE 2

1 30 2020 N SR W FEA 950
30 I 2020 W HFEH H FEA 1050
s, 2020 ¥ FREA DA X

sfeenl @ e 0
mzozoﬁ@ﬁﬁmﬁw 30
S 2020 ¥ o wfE G

(e FrsFn @ FRO 120 Afed) 140

fafer Rl & qe9 99 FRER S F IO i

(a) Distinguish between allocation and apportionment

of overheads. ®)

»2-T.0.
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(b) A cost centre in a factory furnishes the following OR
working conditions :
: (a) What is Activity Based Costing? How is it
Normal working week
e 40 hours different from traditional method of overhead
Number of machines 15 costing? : (5)

Number of weekly loss of
4 (b) In a manufacturing unit, overheads were recovered

" hours on maintenance etc. 4 | .

s, per machine at a predetermined rate of ¥ 25 per man-day. The
Estimated annual overheads T 1,55,520 total factory overhead expenses incurred and the
Estimated direct wages rate 28 per hol man-days actually worked were ¥ 41.50 lakh and

Niwribar: of wesks woid Z 1.50 lakh days, respectively.
i ‘ 48 Out of the 40,000 units produced during a period,

Actual results in respect of a 4-week period are : i ol

Overheads incurred 15,000
Wages incurred % 7,000
Machine hours produced 2,200 hrs.

You are required to :

(i) Calculate the overhead rate per machine
hour and

(i) Calculate the amount of under or over-
absorption of both wages and overheads. -

(10)

On analyzing the reasons, it was found that 60
percent of the unabsorbed overheads were due to
defective planning and the rest were attributable

to increase in overhead costs.

How v'vould under/over absorbed overheads be

treated in cost accounts? (10)

(%) Aadew @ IEeT IR Fwwm & o9 R F©

(@) wmmﬁiwm%‘aﬁwﬁﬁﬁmw

N wEE H R

P.T.O.
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AT FHHET qTE RN ‘ N
T A e
W@EE e | H & araed

THIET 0 et 4 R wiy e
~a§mﬁaaﬁmﬁa@@ % 1,55,520
FIAAT e Aoy = 33w wiy Her
A A FW wE @ g

J we 48

4 §9E J oA B Gag A

At aRomy 2
A | % 15,000
bl = % 7,000
T e X 2,200 HS @
Jeare e
HTH TT HEAT B

(i) ¥t 7T 2R ¥ shads = A WA A ik

(i) 7ol ok HaReE AN & w1 A F ST

691 - g

art

(%) Tt snenRe o @ 27 T8 AARes hieed
wwake Tl A S e 27

(@) e Pl oS ¥, sheceeE 25 TR A A - R A
of fruifd & W agw frm T g hadl sees @
IR aFaa ¥ W R 9 WG - eaw wHE T 4150
3R T 150 aE R A

v Jaft & A Ieed 40,000 THEEA A | 30,000
i fosit g2

mﬁwﬁsﬁqﬁaﬂﬁw,tﬁ:mwﬁaéom
AR SaReE AT A B HRO A IR AW
Fadgm oE ¥ e & FW AN

N @R ¥ /e FEmiT AaeeE w IR
fre wer fehar s ?

4. (a) Distinguish between service costing and output

costing. (5)

(b) The following information has been taken from
the costing records of a company in respect of a

job :

P10,
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Direct Materials T 6,000
Wages:

Department A: 60 hours @ X 30 per hour
Department B: 40 hours @ ¥ 20 per hour

De'partment C: 20 hours @ ¥ 50 per hour

Overheads for the three departments are estimated

as follows :

Variable Overheads

Depart‘ment A: R 15,006 for 5,000 hours
Department B: ¥ 30,000 for 1,500 hours
Department C: % 12,060 for 500 hours

Fixed Overheads: ¥ 50,000 for 10,000 working hours

You are required to calculate the cost of the job
and also calculate the price to be charged so as

to yield a profit of 20% on the selling price.
(10)

OR

The following information relates to Process A :

§91 | 13

Opening Work in Progress
1,000 units worth

Units introduced during the year

¥ 10,800

5,000

The following costs were incurred during the year:

Material Cost T 89,200
Labour Cost T 41,500
Overheads % 16,600
Output transferred to next process 3,750 units
Scrapped units 750
Normal Loss 10% of total
(sold @ Re. 1 per unit) input
Closing Work in Progress 3,000 units
Degree of | Materials Labour | Overheads
g;::ﬁllegugs’llP 40% 20% 20%
Closing WIP 60% 30% 30%

Prepare the Process ‘A’ A/c assuming FIFO method

of stock valuation.

(15)

.10,
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() W1 @O IR ICeYe G B W HR H

(@) R F wE ¥ TR D A R A PR

m?’ﬁ'ﬂ#%:

YoaEl gt T 6,000

ﬁwrrazéou%@?sow}wf?ft'm_
fasm b : 40 R @ T 20 ¥R W wer
Mczzoa’%@?somﬁuﬁ‘aﬁ

T el & foe saewm R sfe 2

- Rada Maesd

fasmr a : 15,000 5,000 WA & o
fasmr b : T 30,000 1,500 W @ forw
fasmr ¢ . 212,000 500 W & forw

e irawesw : 10,000 FHwEEHH HA & B 50,000
ol

T FE F G A A FE R R w
20% 1 T W FA F o et fre W A e
A ST w2

691 . 15

a1

fpafafad S ufehar A ¥ GelE 2
1,000 SEHIEA T TS BT AT FA 710,800

a6 & G Y B T T 5,000

s & B FtEd dee @ T

[ ST ‘ % 89,200
- : % 41,500
e 16,600
HTETe T IR TR K TR

forar T 3,750 THT

T & TS gl o

A TR g
(@ @ 1 7@ W Ffe) e

3900@@@%@%“

Ut #1 =T el | AW | SEee

ﬁqﬁ"f gm‘é‘fﬂ' 40% 20% 20%

FATAT Soegaedl | 60% | 30% | 30%

| ot WA PR Tgfy AR i (A’ Tl 4aR
gl

P Ti0,
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8.

(a) Distinguish between job costing and contract
costing. (5)

(b) Mr. Ahuja runs a tempo service in Delhi. He
furnishes the following particulars of his vehicle

A:

4
Cost of vehicle 25,000
Road License fee per ‘year 750
Supervisor’s salary per year 1,800
Driver’s wages per hour 4
Cost of fuel per liter 1.50
Repair per km 1.50.
Garage rent per annum 1,600
- Insurance premium per annum 850
Kilometres run per litre 6
Kilometres run during the year 15,000 miles
Estimated life of vehicle 1,00,000 miles

Charge interest @ 10% per annum on the cost of
the vehicle. The vehicle runs 20 kilometres per

- hour on an average.

You are required to calculate cost per running

kilometre.

(10)

$91
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OR

A firm undertook a contract for the construction of a
large Shopping complex. The construction work started
on April 1, 2021 and the following data are available
for the year ended March 31, 2022:

?
Materials issued to site 84,00,000
Architect cost 11,20,000
Direct wages paid 44,80,000
Materials returned from site 2.80,000
Tools hire charges 19,60,000
Other indirect cost 5,60,000
Site office costs 8,00,000
Head office expenses (allocated) 4,20,000
Direct expenses 10,09,600
Work certified 2,24,00,000
Work done but not yet certified 1,60,000
Progress payments received 1,79,20,000
Contract price 4,00,00,000

‘The firm owns a crane with an original cost of ¥ 120
Lakhs. The residual® value of this crane after five

years of life is expected to be ¥ 20 Lakhs. Straight

line method of depreciation is used.

PO,
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As on March 31, 2022 the direct wages due and

payable amounted to ¥ 3,20,000 and the cost of
materials estimated to be ¥ 7,20,000.

You are required to :

. (i) Prepare the contract account for the year ended
on March 31, 2022.

(11) Show the calculation of profit to be taken to the
profit and loss account of the year.

(iii) Show the balance sheet (relevant extracts only)
as on March 31, 2022. (15)

() i 1 ARE AR FFES A ARE ® A FR Ao

(@) sﬁa@wﬁc—vﬁﬁéﬁaﬁaaﬁﬁé’nwmm
a & frafafed fawo v @@ 2

A A
qEA W AN 25,000
qH AZHE Tod wa ad 750
TagE H a9 w99 1,800
IAE H A9 S e 4
Wi e gom @t anE 1.50
wowa i 1.50
Tt e o 1,600

18 ; &y
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o o G A 850
freiidiey dg S AT ¢

a5 @ SR e & 15,000 ¥t
T w1 SR AT 1,00,000 &

AT = EE W 10% s @ W ¥ = ik
A 7z A sEET 20 ey wfy w1 F TR
¥ e B

mgﬁﬁ@ﬁaaﬁm@mm%u
Ll

wﬁ%w@mﬁhmﬁw%ﬁﬁwm%mml
For = 139, 2021}3%1[@@13?!131#5&,20223?(
T af @ fog FefRes s SuerR @

%
aree @ W@ 84 00,000
.W o wa 12,000
e TR T 44,8 0,000
e 3 e T 2.80,000
S S 19,6 0.000
ke 5,60,000°
e 8 ,00,000

».T.O.
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3T FRied =g (JmEfed) 4,20,000
yayq =4 10,09,6 00
e e 2,24 ,00,000
frar wan wm AR 3l 9wt T8 2 1,60,000
W foRar T W ST 1,79,20,000
A A 4,00,00,000

T B T T 120 IR T B A GWE a6l T @ B
U WS & WG & 9% 30 e o FaEe §ed 20 W@
T BN A IRE 31 AR A R WA i & I
forar w21

31 W, 2022 9% SHET AR T YeUE Awigd < 3,20,000
IR arrElt &t W T 7,20,000 B T FFA SAIEGT @1 AT

ATE TE HET B

(i) 31 9, 2022 ﬁma&%maﬂ'&zméﬂn
Frg| :

(ii) =f & @ 3R B @m ¥ forg S A S A0
2|

(i) 31 #rd, 2022 @ Fufy & IgER TE W (Fad
R Igr) T

(9500)



